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Note:  Answer anyfour questions.
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Solve all parts of a question consecutively tagether. . .- 4
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Only English version is valid in case of difference in both the languages.
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1. @) mmﬁmwm@wﬁmmt v
* Prove that square key is equally strong in shear and compression.
7 (i) g v st ot e ST S | R
Explain the design procedure of screw jack with the help of figure. (1Y4+10)
2. () ue T e SRTEHTHT Yo T e aui Wi |
Explain the design procedure of a flywheel with its sketch.
(i) mﬁwaﬁmmahmm%aﬁﬁﬁﬁaﬂl |
Write about general procedure in machine design. (10+7%)
3. () TEEASEH ST T B GHAE |
Explain the design procedure of turn buckle joint.
(ii) o A e | aui Wi |
Describe bolt of uniform strength with sketch. (12%4+5)
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A shaft is transmitting 150 kW at 350 rpm. The supported length of the shaft is
3 metres. It carries two pulleys each weighing 1500 N situated at a distance of
1 metre from each ends. Determine'diameter of shaft, if allowable tensile stress is
80 MPa and allowable Shedr4tressis 60 MPa, =+ '
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) _Déécv:ri;b%hmqtenfials used for bearing. ; ' (12%+5)
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What information should be given to specify a sprmg _Qgﬁlpl&ely ?
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A plate 100 mm wide and 10 mm thicK'is'to be welded to aniother plate by means
of double parallel fillets. The plates are subjected to a.static load of 80 kN. Find
the length of weld, _g’fvthe‘ pqnpigsible shear stress igi‘_tlgg:\yeld is 55 MPa.  (5+12%)
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'Explain the design procedure of hand le\{er.

Explain the standard diménsions and .desigxiati_on qg ball bearmgs  (12%+5)



